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  السؤال الأول:

 :استخدم قوانين الأسس لإيجاد قيمة

①   (−2)4 × (−2)2 =

② 
29

24
= 

③   (22 × 3)2 =

④   30 =

⑤   2−4 =

⑥   (
2

3
)

4

= 

⑦   (23)−2 =

⑧   (
1

3
)

4

× 36 = 

⑨ 
35 × 22

32 × 24
= 
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الرياضيات 

 السؤال الأول:

 :استخدم قوانين الأسس لإيجاد قيمة

①   (−2)4 × (−2)2 = (−2)6 = 64

② 
29

24
= 25 = 32 

③   (22 × 3)2 = (22)2 × 32 = 24 × 32 = 16 × 9 = 144

④   30 = 1

⑤   2−4 =
1

24
=

1

16

⑥   (
2

3
)

4

=
24

34
=

16

81

⑦   (23)−2 = 23×−2 = 2−6 =
1

26
=

1

64

⑧   (
1

3
)

4

× 36 =
1

34
× 36 =

36

34
= 32 = 9 

⑨ 
35 × 22

32 × 24
= 33 × 2−2 =

33

22
=

27

4




